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                                        '!ЛО��Ы� О�О���'���/: 
 

К� - колPFо 4<87уDу<8 

�� - 6о7дуH=4O петлO 

!�� - Eтол58к 5е7 =4к8д4 

�!!� - полуEтол58к E =4к8до< 

!!� - Eтол58к E =4к8до< 

'� - у546к4 

�  - пD8546к4 

 

                                           ��&� ��ЛЫ: 
 

�DO64 Catania originals: кD4E=O9 424, телеE=O9 tr 263, 5оDдо6O9 
192 (о5у6P 8 54=т8к8), QкDN 130, �л87е Котто= �олд - 6елтO9 110 

 GеD=4O 8 5ел4O =8тP длO 6OH864=8O 

 КDNGок 2,00 << 

 �л474 8 << 

 пDо6олок4 15 E< 

 �7л4 длO EH864=8O 

 �4DкеD петелP 

 �4пол=8телP 
 

 

 

                                                          �ОЛО��: 
 

�O6е< телеE=O< F6ето< 

1 DOд: пDо6O7O64е< 10 6п, Eо 6тоDо9 петл8 =4 кDNGке 1 � , 7 E5=, 6 
поEлед=е9 петле FепоGк8 6O6е< 4 E5=, 7 E5=, 1 �  (22) 
2 DOд: (1 E5=, � )*2, 4 E5=, (1 E5=, � )*3, 6 E5=, (1 E5=, � )*1 (28) 
3 DOд: 1 E5=, 1 � , 2 E5=, 1 � , 7 E5=, (1 � , 2 E5=)*3, 5 E5=, 1 � , 1 
E5= (34) 
4 DOд: (1 � , 3 E5=)*2, 5 E5=, (1 � , 3 E5=)*3, 5 E5=, 1 � , 3 E5= (40) 
5 DOд: 2 E5=, 1 � , (4 E5=, 1 � )*7, 2 E5= (48) 
6 DOд: (5 E5=, 1 � )*8 (56) 
7-18 DOдO: 56 E5= (56) 



19 DOд: 1 E5=, 1 '�, 26 E5=, 1 '�, 25 E5= (54) �4G=8те =45864тP 

20 DOд: (7 E5=, 1 '�)*6 (48) 
21 DOд: (6 E5=, 1 '�)*6 (42) 
22 DOд: (5 E5=, 1 '�)*6 (36) 
23 DOд: (4 E5=, 1 '�)*6 (30) 
24 DOд: (3 E5=, 1 '�)*6 (24) 
25 DOд: (2 E5=, 1 '�)*6 (18) 
26 DOд: (1 E5=, 1 '�)*6 (12) 
�6тоD 6Eт46лOет пDо6олоку <е6ду 7оло6о9 8 Hее9 длO укDепле=8O 
уEто9G86оEт8 

�Eт468тP 7л474 <е6ду DOд4<8 10 8 11 =4 D4EEтоO=88 7 петелP дDу7 
от дDу74 (ко7д4 7л474 5удут 6Eт46ле=O, <е6ду 7л474<8 5удет 5 
петелP) 

 
 

 

 

                                                          �ОЛО!Ы (�� �К): 
 

�O6е< 6елто9 пDO6е9 

1 DOд: 6 E5= 6 К� (6) 
2 DOд: 6 �  (12) 
3 DOд: (1 E5=, � )*6 (18) 
4 DOд: (2 E5=, � )*6 (24) 



(�Dо6O6е< 25 6п, E 3-е9 петл8 от кDNGк4 6O6е< 10 пD8546ок 87 
�!!�, 13 �!!�, EE к п4D8ку)*1 - Qт4 пDOдP 5удет 6 D49о=е уE4 

(�Dо6O6е< 19 6п, E 3-е9 петл8 от кDNGк4 17 �!!�, EE 6 п4D8к)*11, 
Qт8 пDOд8 по9дут =474д 

(�Dо6O6е< 25 6п, E 3-е9 петл8 от кDNGк4 6O6е< 10 пD8546ок 87 
�!!�, 13 �!!�, EE к п4D8ку)*1 - Qт4 пDOдP 5удет 6 D49о=е 27о уE4 

(�Dо6O6е< 9 6п, E 3-е9 петл8 от кDNGк4 7 �!!�, 1 EE 74 74д=NN 
полупетлN)*3, Qт8 пDOд8 6 D49о=е Gелк8 

(�Dо6O6е< 9 6п, E 3-е9 петл8 от кDNGк4 7 �!!�, 3 EE 74 74д=NN 
полупетлN)*1, Qт8 пDOд8 6 D49о=е Gелк8 

(�Dо6O6е< 9 6п, E 3-е9 петл8 от кDNGк4 7 �!!�, 1 EE 74 74д=NN 
полупетлN)*3, Qт8 пDOд8 6 D49о=е Gелк8 

(�Dо6O6е< 9 6п, E 3-е9 петл8 от кDNGк4 7 �!!�, 2 EE 74 74д=NN 
полупетлN)*1, Qт8 пDOд8 6 D49о=е Gелк8 

 

 
�4кDеп8тP локо=O 6 теE <еEт4E, 7де 8E пD8к4лO64л8.  
 

�D8H8тP локо=O дDу7 к дDу7у к4к пок474=о =4 Dото. 
 

 

 
 

 



 

 

                                                          %�О!&�К�*4: 
 

�O6е< 6елто9 пDO6е9. 
!6O6е< 4 6п, Eо 6тоDо9 петл8 от кDNGк4 пDо6O7O64е< 3 дл8==Oе 
FепоGк8: 
(!6O6е< 27 6п, E 3е9 петл8 от кDNGк4 6O6е< 13 пD8546ок 87 �!!�, 
12 �!!�, 1EE к оE=о6=о9 FепоGке)*3 

�D8H864е< 2 Hтук8 E ле6о9 EтоDо=O, 2 Hтук8 E пD46о9 EтоDо=O к4к 
пок474=о =4 Dото. 

 
 

 

 

                                                          '(К�*2: 
 

 

�O6е< телеE=о9 пDO6е9 

 

!6O6е< 4 6п, Eо 6тоDо9 петл8: 1EE, пD8546к4 87 
�!!�, 1 EE 

 

 

 

 

 

 

 

 

 



 

 

 

                                                           'К�: 
 

�O74тP, =45864O по <еDе 6O74=8O 

�O6е< телеE=о9 пDO6е9 

1 DOд: 4 6п, Eо 6тоDо9 петл8 6O6е< 3 E5= E од=о9 EтоDо=O FепоGк8, 
пото< 3 E5= E дDу7о9 EтоDо=O FепоGк8 (6) 
2-5 DOдO: 6 E5= (6) 
�е=Oе< F6ет =8т8 =4 QкDN 

6 DOд: 6 �  (12) 
7-9 DOдO: 12 E5= (12) 
10 DOд: 2 E5=, '�, 4 E5=, '�, 2 E5= (10) 
11 DOд: 10 E5= (10) 
12 DOд: 1 E5=, 1 '�, 3 E5=, 1 '�, 2 E5= (8) 
13 DOд: 1 '�, 6 E5= (7) 
14-19 DOдO: 7 E5= (7) 
20 DOд: 74кDOтP 6O74=8е 
 

 

 

                                                          �О��: 
 

�45864тP по <еDе 6O74=8O. �O6е< 5оDдо6о9 пDO6е9 

1 DOд: 6 6п, Eо 6тоDо9 петл8 6O6е<: 1 � , 3 E5=, 3 E5= 6 од=у петлN, 
4 E5= E дDу7о9 EтоDо=O FепоGк8 (12) 
2 DOд: 1 � , 4 E5=, 3 � , 4 E5= (16) 
3 DOд: 1 E5=, 1 � , 6 E5=, 3 � , 5 E5= (20) 
4 DOд: 6 E5=, 6 '�, 2 E5= (14) 
5 DOд: 4 E5=, 4 '�, 2 E5= (10)  

�е=Oе< F6ет =8т8 =4 телеE=O9 

6 DOд: 74 74д=NN полупетлN 10 E5= (10) 
7-11 DOдO: 10 E5= (10) 
12 DOд: 1 E5=, 1 � , 8 E5= (11) 
13-17 DOдO: 11 E5= (11) 
18 DOд: 2 E5=, 1 � , 8 E5= (12) 
19-20 DOдO: 12 E5= (12) 



Ле6ая но7а: 
21 DOд: 1 E5=, отDе74тP =8тP 

Пра6ая но7а: 
21 DOд: 8 E5=, пеDеEод8< к 6O74=8N тел4, =8тP =е о5Dе74е<, 6O6е<, 
поEтепе==о =45864O тело 

22 DOд: 2 6п, Eоед8=Oе< E дDу7о9 =о7о9: 12 E5=, 2 E5=, 12 E5=, 2 E5= 
(28) 

(!т468< <4DкеD) 
23 DOд: 6 E5=, 1 � , 13 E5=, 1 � , 7 E5= (30) 
24 DOд: 6 E5=, 3 E5= 6 од=о9 петле, 15 E5=, 3E5= 6 од=о9 петле, 7 
E5= (34) 
25-27 DOдO: 34 E5= (34) 

28 DOд: 6 E5=, у546к4 87 тDеE петелP, 15 E5=, у546к4 87 тDеE петелP, 
7 E5= (30) 
�е=Oе< F6ет =8т8 =4 кD4E=O9 

29 DOд: 30 E5= (30) 
30 DOд: 74 74д=NN полупетлN: 30 E5= (30) 
�7<е=8тP F6ет =8т8 =4 5елO9 

31 DOд: 30 E5= (30) 
�7<е=8тP F6ет =8т8 =4 кD4E=O9 

32 DOд: 30 E5= (30) 
&епеDP 6O6е< 2 5елOе петл8, 2 кD4E=Oе попеDе<е==о 

33-37 DOдO: 30 E5= (30) 
38 DOд: 6 E5=, у546к4 87 тDеE петелP, 13 E5=, у546к4 87 тDеE петелP, 
5 E5= (26) 
39 DOд: 6 E5=, 1 '�, 11 E5=, 1 '�, 5 E5= (24) 
�е=Oе< F6ет =8т8 =4 5елO9 

40 DOд: 24 E5= (24) 
41 DOд: (2 E5=, 1 '�)*6 (18) 
42 DOд: (1 E5=, 1 '�)*6 (12) 
�е=Oе< F6ет =8т8 =4  
телеE=O9 

43 DOд: 74 74д=NN  
полупетлN 12 E5= (12) 
 



 

 

 

                                                          .�К�: 
 

КDеп8< =8тP 8 6O6е< N5ку к4к =4 Dото 

1 DOд: 30 � =60 E5=, 1 EE, 1 6п 

&епеDP 6O6е< 2 5елOе петл8, 2 кD4E=Oе 
попеDе<е==о 

2-8 DOдO: 60 E5=, 1 EE, 1 6п 

9 DOд: 74 пеDед=NN полупетлN: 60 �!!�, 1 EE 

 

9 DOд: 6O6е< 6 9 DOду тепеDP 74 74д=NN 
полупетлN: 
1 DOд: 5ело9 пDO6е9: 60 !!�, 1 EE 

2 DOд: (1 6п, 1 EE)*60 

 

 

 

 

 

 

 
 

 

 

                                                          �оDот=8к: 
 

�D8кDеп8< =8тP к4к =4 Dото: 
(3 6п, 1 EE)*12, отDе74тP =8тP 

ОтделP=о 6O6е< FепоGку 87 12 6п 5ело9 =8тPN 8 пD8H864е< к 40 
DOду 

 

 

 

 

 

 
 

 



 

                                                          ���&�К�*2 
 

�O6е< 5оDдо6о9 пDO6е9 

1 DOд: 23 6п, =4G8=4е< Eо 6тоDо9 петл8 от 
кDNGк4: 1 � , 20 E5=, 4 E5= 6 поEлед=NN петлN 
FепоGк8, по дDу7о9 EтоDо=е FепоGк8, 20 E5=, 1 
�  (48) 
2 DOд: 1 E5=, 1 � , 20 E5=, 1 � , 2 E5=, 1 � , 20 
E5=, 1 � , 1 E5= (52) 
!оед8=8< ко=FO 54=т8к4, EеDед8=ку 
пеDе<от4е< =8тPN 
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